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R

)

then 15 equal to

(1
)13

Options :

36669422601, 1

-:-}B

I

on

36669422602.

o
Lo

o | B

36669422603.

36669422604, 13

Online
Mandatory
20

20

80

Yes

0

1
366694416
Yes

null



Question Number : 1 Question Id : 3666947183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

™

&aﬁﬁﬁﬂmﬂﬁf:m—ﬂﬂ+I{$ﬁﬂﬂﬁﬂ3ﬂxh2ﬂ}-=i—m%,
X X

&

ar ‘f{:mr[ﬂ‘ R ¢
Options :

36669422601, 1
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36669422602.
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Lo
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36669422603.

36669422604, 19

Question Number : 2 Question Id : 3666947184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The set of all a IR for which the equation x |x—l|+|x+2|+u =0 has exactly

one real root, 18

Options:

(0, —3}
36669422605.



(-6, )
36669422606.

(o0, )
36669422607.

(-6, -3)
36669422608.

Question Number : 2 Question Id : 3666947184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

It ¢ e R, oS forw geiteon « | —1|+|x +2
&1 94 8

Options :

+a =01 1 U aRdidd 4d g,

36669422605.

36669422606.

(<00, )

36669422607.

(-6, -3)
36669422608.

Question Number : 3 Question Id : 3666947185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
1 3§ o
Let B=|1 2 3|, a>2 be the adjoint of a matrix A and |A|=2. Then
a a 4

a
[ -2a a] B| -2a | is equal to
a

Options :

36669422609,

36669422610, 16

36669422611, 10

36669422612,

Question Number : 3 Question Id : 3666947185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

36669422609,



-16

36669422610.

36669422611, °
32

36669422612,

Question Number : 4 Question Id : 3666947186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For the system of linear equations

2x+4dy+2az=>b
x+2y+3z=4

2x-6y+2z=8

which of the following 18 NOT correct?

Options:

36669422613. It has unique solution if a=b=6

36669422614, It has unique solution if a =b=8

36669422615. It has inﬁﬂitE].}’ many solutionsifa=3,b=28

It has infinitely many solutionsifa=3, b=6
36669422616.

Question Number : 4 Question Id : 3666947186 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Yad gHie Fen

2x+4y+2az=>
x+2y+32=4
2x—-5y+22=8

SR dIs g adi 2

Options :

36660422613, SIP1 HGAIRAR A a=b=6 §

| P Jfgd gde dt a=b=-8 §

36669422614
36669422615, 0P o T guUda=30=8%
36669422616, 0P o1a gdl 8Ud a=3,0=6%

Question Number : 5 Question Id : 3666947187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The number of symmetric matrices of order 3, with all the entries from the set
{0,1,2,3,4,5,6,7,8 9,18

Options :

i1
36669422617, 1Y

gl0
36669422618.



G
36669422619, 1V

114
36669422620, ©

Question Number : 5 Question Id : 3666947187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Fife 3 & gufHd 3agel, foe 9t 3raga 99=9 {01, 2,3, 4, 5, 6, 7, 8, 9)
AT P I|IR

Options :
i
36669422617, 10

36669422618.

[
36669422619, 19

10
36669422620, ©

Question Number : 6 Question Id : 3666947188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Let s, 5,, 85....., 8, respectively be the sum to 12 terms of 10 A.P. s whose first

terms are 1, 2, 3, ....., 10 and the common differences are 1, 3, 5......., 19
110
respectively. Then Z“’l‘ is equal to

i=1

Options :
36669422621, 260

DD
36669422622, 220

36669422623, 1260

36669422624, o0V

Question Number : 6 Question Id : 3666947188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AFT 10 AP, FHF UYHYS 1, 2, 3,......., 10 TUT 3Td AR FHHAL: 1. 3, 5......., 19 T,
10

& 12 UG BT AT BHIL: 8, Sy» S3seeees Sy %I?ﬁ zsf azlai%
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Options:

36669422621.
36669422622,

36669422623, 1260

36669422624, o0V



Question Number : 7 Question Id : 3666947189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among

(S1) : lim %{2+ 4+6+....+2n)=1

n—s=
(82) : lim —(1®+25+3% + ...+n'%)=—
- ”“" """ 16
Options :
36669422625, Only (81)is true
» -J ol i
36669422626, Oy (82) is true
36669422627. Both (S1) and (S2) are true
Both (S1) and (52) are false
36669422628.

Question Number : 7 Question Id : 3666947189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

(51): lim L 2+4+6+.....+2n)=1
. )

—Fa0 ”"

(S2): lim —(1%425 3%+ 4n)=— HY
n—o ”lh 16

Options:



36669422625, PIA (S1) T ®

36669422626, P (S2) A &

36660422627, M1 (S1) AT (S2) T E

36669422628, QM (S1) T (S2) 9 &

Question Number : 8 Question Id : 3666947190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the equation of plane passing through the line of intersection of the planes
x+2y+az=2 and x—-y+2z=3 be 5x-11y+bz=6a-1. For c € Z, if the

a+b

distance of this plane from the point (a, —¢, c) 1s & , then 15 equal to

i
Options :
36669422629,
36669422630, -
36669422631, 2

36669422632, 1

Question Number : 8 Question Id : 3666947190 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AF THAAT 2+ 2y +az = 2041 x—}-+z:33ﬂmm CRETSIEEIR
GHddA & GHBI] 5~ 11y +bz=6a-1 gl ¢ 7 & [o10, Tl 3T GATA Bl
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Options :

36669422629.

36669422630. -

2]

36669422631.

36669422632, 1

Question Number : 9 Question Id : 3666947191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let :f+-'lj +2k, b= 3::—2} +T7k and ¢ =2::—;+ 4k . If a vector d satisfies

dxb=¢xb and d-d= 24, then |{;’|d is equal to
Options :

36669422633, 323

36669422634, 213

36669422635.



413
36669422636.

Question Number : 9 Question Id : 3666947191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

O G=i+4j+2k, b=3i-2]+ThaUT ¢=2i - j+ 4k T 1 AR AW d, dxb=cxb
Al d-G =241 UgP B Q, ff |df SR &

Options:

36669422633, 923

36669422634, 213

36669422635.

413
36669422636.

Question Number : 10 Question Id : 3666947192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

max J x—2smxcosx+—sm 33‘1 =
0=x=7 |, )

Options :



g e 1 ]

36669422637. 6
S57+2433
36669422638, 6
36669422639.
36669422640, °

Question Number : 10 Question Id : 3666947192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

.
max J Y —251MXCcosy+—s1n 3,1'1 =
0=x=7 |, 5

Options :

7+2-33
36669422637. 6

S57+2433

36669422638, 6

36669422639.

36669422640.



Question Number : 11 Question Id : 3666947193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 3666947193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

36669422641.
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Question Number : 12 Question Id : 3666947194 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The area of the region enclosed by the curve
f(x)=max|sinx, cosx}, —~7<x <7 and the x-axisis

Options :

sz_(JEH_]

36669422645.

36669422646.

36669422647.

36669422648.

Question Number : 12 Question Id : 3666947194 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

dd f(x)=max|sinx, cosx|, -7 <x <x A4l x- G{&Iﬁf@‘{&‘fﬂﬁm%

Options :

zﬁ(&+1_]

36669422645.

36669422646.

36669422647.

36669422648.

Question Number : 13 Question Id : 3666947195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a0z

Fractional part of the number -

is equal to
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Options :
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36669422651.



=t
on

14
36669422652, 17

Question Number : 13 Question Id : 3666947195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ey ]

gen 4 eTRm Y

15

Options:

[y
1

—
o

36669422649.
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Question Number : 14 Question Id : 3666947196 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Let ¥y = (x) and ¥ = ¥,(x) be the solution curves of the differential equation

?:y +7 with initial conditions y,(0)=0 and »,(0)=1 respectively. Then
(rx

the curves ¥ =y,(x) and y = y,(x) intersect at

Options :

36669422653, "¢ Pomt

36669422654, °ne point

36669422655. two points

infinite number of points
36669422656.

Question Number : 14 Question Id : 3666947196 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A S TR0 <2 = 73 TR W 5, (0)=0 T ,(0)=1
X

1Y T T BHY: y =y, (x) AU y=y,(x) & ATP y=y, (x) T
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Options:
fapdft +ft faig wR =1ET frrd

36669422653.

TS foig R e &

36669422654.

& fargaif w e €

36669422655.
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Question Number : 15 Question Id : 3666947197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the tangent and normal at the point (?-,ﬁ 1) on the ellipse % v YT =1 meet

Eslal
the y-axis at the points A and B respectively. Let the circle C be drawn taking

AR as a diameter and the line x = Jﬁ intersect C at the points P and Q. If the
tangents at the points P and @ on the circle intersect at the point (@, £), then

a” — f° is equal to

Options :
36669422657, 0
61
36669422658.
304

36669422659, O

314
36669422660. =»

Question Number : 15 Question Id : 3666947197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



o g ¥T1$ Rig (345,1)R el a1 aur sfiela y-s 3

HAY: fdg3fl A TUT B W T &1 AT AB &1 U 1Y A’ W1 T g € @
UG x =245, Id € 1 fagafi p au Q R Fred! 81 afs g & fagafi p au
Q W e X3 &1 ufaeded €5 (o, #)8, @ o - p2 TR

Options:

36669422657, 0

61
36669422658.

304
36669422659, O

314
36669422660. 5

Question Number : 16 Question Id : 3666947198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let PQ be a focal chord of the parabola y* = 36x of length 100, making an acute

angle with the positive x-axis. Let the ordinate of P be positive and M be the
point on the line segment PQ such that PM:MQ = 3:1. Then which of the
following points does NOT lie on the line passing through M and perpendicular
to the line PQ?

Options :
(3, 33)
36669422661.

36669422662, O 19



36669422663, > 19

(6, 29)
36669422664.

Question Number : 16 Question Id : 3666947198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT Iaad 3% = 36x &I UH A1 Siidl pPQ & dals 100 8, off Y-S
x & ¥ U YA DIV G411 g1 AHT P B PICT 43D g Ul RIS PQ W
foig M 39 UHR B i PM:MQ = 3:1 81 A fig M & IR S arelt aur ¥&n
PQ & dadd Y@ R 9 & J &F 1 foig fRya 18t 82

Options :

(3, 33)
36669422661.

36669422662, O 19

36669422663, 19

(6, 29)
36669422664.

Question Number : 17 Question Id : 3666947199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The distance of the point (-1, 2, 3) from the plane ;(; —2}+3§)= 10 parallel to
the line of the shortest distance between the lines r = (:—j)+}(£: +.‘e] and
r :(2;—})+;:[§—}+£’] 18
Options :
BV L)

36669422665.

36660422666, 2V6

36669422667.

36669422668, 2

Question Number : 17 Question Id : 3666947199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
G (-1,2.3) BVX@IS 7= (i) 4(28 +£) 1 7 = (28 - ])+ ufi -+ ) Bl
A gl B 1 B AR THAA 7-(i -2)+3k) =10 AGI®

Options :

5

36669422665.

36669422666. 246

3-/6

36669422667.



36669422668, “V?

Question Number : 18 Question Id : 3666947200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A coin 15 biased so that the head is 3 times as likely to occur as tail. This coin
18 tossed until a head or three tails occur. If X denotes the number of tosses of
the coin, then the mean of X is

Options :

36669422669, 16

15

36669422670, 16

36669422671, 64

]:‘.n:i
T |=a

r

36669422672, 1

Question Number : 18 Question Id : 3666947200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



TS ! 39 USR 44 € o a0 & o &t GuIa-1 ue & 3 &1 GUIa
B dF T g 39 Red F d9 @ I[N Al § 9E dP (P
U fer a1 o e fexa S| afg X e &1 ISTem &t T &I guiar g, dl
X BTHI R

Options :
36669422669, 16

15

36669422670, 16

81
36669422671, 64

97
36669422672, 16

Question Number : 19 Question Id : 3666947201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

For xelR, two real valued functions f(x) and g(x) are such that,

g[x}=ﬁ+l and fog[x}=x+3—-¢§. Then f(0) is equal to

Options :

36669422673, 9

36669422674, 0

36669422675. A



36669422676. “

Question Number : 19 Question Id : 3666947201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

xeR ¥ U G aRafdd B f(x) TUT g(x) TTUPRE & g(x)=x +1
adl fog(x)=x+3-Jx g1l f(0) TR &

Options :

36669422673, 9

36669422674.

36669422675.

36669422676.

Question Number : 20 Question Id : 3666947202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The negation of the statement ((4 A(BvC))=(AvB))=> A is
Options :

a fallacy
36669422677.

36669422678.



equivalent to Bv ~C

36669422679. equivalent to ~ A

36669422680, eauivalent to ~C

Question Number : 20 Question Id : 3666947202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

HYT ((AA(BvC))=(AvB))=A HIATH

Options :

36660422677, S ¥ (fallacy) &

36669422678, BY ~CP T8

36669422679, ~ 4 PN

36669422680, CHIUE
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Question Number : 21 Question Id : 3666947203 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Let w=2Z +kz+hkjiz+A(1+1). k. ky e R, Let Re(w) =0 be the circle C of radius 1 in the
first quadrant touching the line y=1 and the y-axis. If the curve Im(w)=0

intersects C at A and B, then SO(AH}Z is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 21 Question Id : 3666947203 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



AT =22 + bz + kyiz+ A(1+i). k. ky e R 81 AFT Re(w) = 0 YA IUT & 3575 B
&1 U Td C 3, TN T@I y =131 y-318 BT T B §1 U T Im(w) =0,
qd C B AT B W BICal g, d 30(AB) &RIaRE

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666947204 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of seven digit positive integers formed using the digits 1, 2, 3 and
4 only and sum of the digits equal to 12 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666947204 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HAd 3] 1, 2, 3 U4 & YN Y &4 d1d I1d 3d| & TS Yuliep], ford
JBIPHIART 127, HIEBINE

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 3666947205 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

n

Let ¢ be the constant term in the binomial expansion of | ¥X ——¢
X
the sum of the coefficients of the remaining terms in the expansion is 649 and

.n=15.1f

1afca

the coefficient of x™is Ae, then 1 is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 3666947205 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

o
ik

m:nf\/,‘_ 6 |, n<15% Rue R & SRR 0T o 31 TR 39 TOR F A9 01 &

3 |
x? )

T[UTTShT BT AT 649 € YT x " PTIUNP AaQ, df AR E

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666947206 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum to 20 terms of the series 2-2° -3 +2.4* -5" +2.6" —....... isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666947206 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Juff 2.2% 82 +2.4% 52 +2-6%—....... B 20 UG| BT AT B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 25 Question Id : 3666947207 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Letfor xe IR, S[]{x] =x. S (x)=C,x A’J’I': S, {t}fﬁ, where

Co=L =1 _[: S, . (x)dx,k=1,23,... Then 5,(3)+6C; is equal to

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666947207 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
AFl xeR & 1Y, S)(x)=x, S, (x)=Cox + k[*S,., (¢)dt &, T

C,=1 G, =1-[ S (x)dx, k=1,23,.., TIT 5,(3)+6C, RR ¢

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 26 Question Id : 3666947208 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let m, and m,be the slopes of the tangents drawn from the point P(4, 1) to the

i} Er)

eooxT : ; :
hyperbola H : :;’_"_E =1. If Q is the point from which the tangents drawn to
&l ]
H have slopes |m,| and |m,| and they make positive intercepts @ and g on the
2
PQ)

x-axis, then is equal to

0
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666947208 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A fag P, 1) ¥ stfdmRaey g2 E g R Gt 1S Tl vt ot

25 16

YQUIATY m, AT m, &1 01 Q 98 g B, o 1 W i<t 7€ wusf Wil ot
YQUIATY |, | TUT |m,| § TUT T8 W WY x- 318 W UIHD 3Hd-TS

aﬁiﬁﬁm%ﬁf%aﬂm%_—

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 27 Question Id : 3666947209 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

b b 8B

Let the image of the point [§ r EW in the plane x-2y+2z-2=0 be P. If the

]

i
A

distance of the point Q(6,-2, @), «>0, from P is 13, then ¢ is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 3666947209 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
5

WWI—E‘}'+E—2:Dﬁﬁ§(‘, aﬂﬁﬁ?ﬁ'ﬂﬁgP%IHﬁﬁg

374" 8/

Q(6,-2,a),a>0 &”ﬁﬁg Pﬁiﬂﬂ%’,?ﬂa W%___

o | on

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 28 Question Id : 3666947210 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Let d=23i +j—£: and ¢ =2?—3}+3ﬂ;_ If b is a vector such that a=bx¢ and

15 equal to

|2

6" =50 then [12-[b +¢
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 3666947210 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Ul G=3i+,-k AUl =2 -3j+3k o1 G UH AW b SUUSR B fb
a=bxe @1 [5f =50 &, A |r2-[p+cf | SRIRE

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666947211 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let the mean of the data

x 1 3 7 | 3
Frequency (f) 4 |1 24|28 | a |8

be 5. If m and & are respectively the mean deviation about the mean and the

MWF

is equal to

variance of the data, then

2
m+a

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666947211 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT bS]
X 1 3 5 7 9
IREARAI () 4 24 28 a 8

&1 HIY 5 g1 T 34 Al S A1 & e Ared g qu1 Uaor HH:
m WGE %,?ﬁ S” W%___

P

m=+a

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 30 Question Id : 3666947212 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

x+1

y Iy
S | X 7T
.?— 7o HlI'l f — 5
Jx‘ +2x+2) yx©+1 4

then Z [sin[(xg + X+ %]%} - ms((xﬂ +X+ "))fr]] 15 equal to

XES

) f
If‘S:lxe]R:ﬁin"L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666947212 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

_J ooy x+1 \_._1. 1 X \!'_fl\
qfas—lxe IR : sin [—mj sin [— 3 %,Eff

Z [ﬁin{(l‘z +x+ :')

xes
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 31 Question Id : 3666947213 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A body of mass (5 £ 0.5) kg 1s moving with a veloeity of (20 + 0.4) m/s. Its kinetic

energy will be

Options :

36669422691, (1000 =0.14) J

36669422692, (1000 =140) 1

36669422693, (300 =0.14) T

36669422694, (300 =140) 7

366694418
3

Online
Mandatory
20

20

80

Yes

0

1
366694418
Yes

null



Question Number : 31 Question Id : 3666947213 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(5 = 0.5) kg GOTHM B TP UUS, (20 = 0.4) m/s B 97T Y i T Tel ¢l STDI!
Tt Gouil el

Options:

36669422691, (1000 =0.14)J

36669422692, (1000 =140) 1

36669422693, (300 =0.14) T

36669422694, (300 =140) I

Question Number : 32 Question Id : 3666947214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Two trains 'A' and B’ of length /' and '4/' are travelling into a tunnel of length L' in
parallel tracks from opposite directions with velocities 108 km/h and 72 km/h.,
respectively. If train 'A' takes 353 less time than train 'B' to cross the tunnel then.
length 'L’ of tunnel is :

(Given L=260 1)
Options :
36669422695. 1800 m

36669422696. 900 m

36669422697. 1200 m



36669422698. 2700 m

Question Number : 32 Question Id : 3666947214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

104 '4]' T, dTell &1 ¢ 4 U B, 'L TETs &1 G (€d) § 9HFRR U |)
UP-gux & fquia fE=mrsii & 82 108 km/h UH 72 km/h & o7 4 99 W61 5
gi¢ G DI YR B H ¢ 4 DI, ¢ B Y 35 YHUS DY o] 9949 A1 5. dl
I & T L'

feag. L=601)

Options:

36669422695. 1800 m
36669422696. 900 m
36669422697. 1200 m

36669422698. 2700 m

Question Number : 33 Question Id : 3666947215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A disc 1s rolling without slipping on a surface. The radius of the disc 1s R. At t=0,
the top most point on the disc 1s A as shown 1n figure. When the disc completes
half of its rotation, the displacement of point A from its initial position 18

J

A

i




Options :
2R fi1+4n?)

36669422699.

36669422700. < R

R

36669422701.

R fin2+4
36669422702. '

Question Number : 33 Question Id : 3666947215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ot a0 R Ue 5% fam1 qeP wiel ST I A RE r=097T
R, &% #1969 Sudl fag A 8. o1 6 o & axifan man 81 9 (8% ol
3178 T QU1 = Tl ©. ol g A 31 3900 | RIS Rufd 3 oo 6.

\/A

Options :

2R fi1+47? |
36669422699. | |

36669422700. < R

36669422701.



R Jin%+4)
36669422702.

Question Number : 34 Question Id : 3666947216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two bodies are having kinetic energies m the ratio 16 : 9. If they have same linear
momentum, the ratio of their masses respectively is :

Options :

36669422703. 3 : 4
36669422704. 9 : 16
36669422705, 4 : 3

36669422706. 16 : @

Question Number : 34 Question Id : 3666947216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

&l fUust & T1fds ol el BT U 16 : 9 § 1 A% 3HDT TG a7 §HH 5, df
3d SoOH| BT U &

Options :

36669422703. 3 : 4



36669422704. 9 : 16
36669422705. 4 : 3

36669422706. 16 : @

Question Number : 35 Question Id : 3666947217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A bullet of 10 g leaves the barrel of gun with a velocity of 600 m/s. If the barrel of
oun 18 50 em long and mass of gun 1s 3 kg, then value of impulse supplied to the
gun will be :

Options :

36669422707. 12 Ns
36669422708. 3 Ns
36669422709. 6 Ns

36669422710. 36 Ns

Question Number : 35 Question Id : 3666947217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 ¢ 1 U TMic ag@ @1 il B 600 m/s P A1 H BISdl 5| Al 5P Dl
Tal 50 om T § Ud §GP DI GoUHH 3 ke &, ol Tl &l [48 T 3107 1 9H
BIT:

Options :

36669422707. 12 Ns



36669422708. 3 Ns
36669422709. 6 Ns

36669422710. 36 Ns

Question Number : 36 Question Id : 3666947218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A planet having mass 9 Me and radius 4R,.. where Me and Re are mass and radius
of earth respectively. has escape velocity in km/s given by:

(Given escape velocity on earth V, = 11.2 = 10% m/s)
Options:

36669422711. 67.2
36669422712, 33.6
36669422713. 16.8

36669422714, 11.2

Question Number : 36 Question Id : 3666947218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0 Me SO0 T4 4 R, A1 16 U% U8 W kan/'s H IATH 971 §: (TaT Me Td Re

U Gedl & SoqH Ud 31 6)

e g, At R UamA ATV, = 11.2 « 103 m/s)



Options :

36669422711. 67.2

36669422712, 33.6

36669422713. 16.8

36669422714. 11.2

Question Number : 37 Question Id : 3666947219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The figure shows a liquid of given density flowing steadily m horizontal tube of

. . . . i . o
varying cross - section. Cross sectional areas at A 1s 1.5 em*. and B 1s 25 mm~, 1f
the speed of liquid at B 1s 60 cm's then (P4 —Pg) 15 :

(Given P, and Pg are liquid pressures at A and B points.

density p= 1000 kg m™
A and B are on the axis of tube
Options :

36669422715. 27 Pa

36669422716. 175 Pa

36669422717, 133 Fa



36669422718. 36 Pa

Question Number : 37 Question Id : 3666947219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e, gRad-=ite oIy PIe arell &fds et ¥ f3U §U U did R $9 9
9ed gUSd B Yai=id HRA1 T 14 TR 3T BIE BT 4% 1.5 e’ € T B R
q%iillullzalaﬁﬁq?ﬁaﬁﬂmﬁ{} c111-s%ﬁ:f{PA—PB)WIIT:f%:

(3a8.P,, Py S GA BIROH: Gd D AE I A TI B Tell & & TR ©)
(p=1000 kgm™)

Options :

36669422715. 27 Pa
36669422716. 175 Pa
36669422717. 135 Pa

36669422718. 36 Pa

Question Number : 38 Question Id : 3666947220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Under isothermal condition, the pressure of a gas is given by P = aV ™, where a is
a constant and V 1s the volume of the gas. The bulk modulus at constant
temperature 1s equal to



Options :

36669422719. 3 P

| ]
]

36669422720.

36669422721. P

36669422722.

Question Number : 38 Question Id : 3666947220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gaariyg gRfufa 8, it T @1 e@ P = ov> §, W6l o T [@RI& T4 v I
PI 3Mga ¢ | YR 1Y IR S Ui &

Options :

36669422719. 3 P

36669422720. 2 P

36669422721. P

36669422722.

Question Number : 39 Question Id : 3666947221 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The rms speed of oxygen molecule m a vessel at particular temperature 1s

|
|" i _I_E"E ,,» Where v is the average speed of the molecule. The value of x will be :
)

(Take n= ‘?_'.)

Options:

36669422723. 4
36669422724, §
36669422725, 27

36669422726. 28

Question Number : 39 Question Id : 3666947221 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

feet f1ad a9 IR, U a4 J SuRyd TR 719 & U3 ST mms (37 A1
T (,,57, BT v 0] ORI B T €

(n= )
Options:

36669422723. 4
36669422724, §
36669422725. 27

36669422726. 28



Question Number : 40 Question Id : 3666947222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which graph represents the difference between total energy and potential energy of
a particle executing SHM vs it's distance from mean position ?

Options :
Energy
/ \
36669422727, A 0 L5
Encrgy
A
/\
/N
/1 \
36669422728. ! 0 Az
I:\ Energy /
36669422729, 0 I

36669422730. { 0 A



Question Number : 40 Question Id : 3666947222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IRA G Tid PR U [l P DI Pdl 3ol Ud U Sl & SR P
ST A1en fRUfT 3§ fowumH & Ty (@3H) IT% (31fiRE) S I &

Options :
Energy
/ \
36669422727, A 0 TR
Encrgy
/N
/ 1\
/1 \
/ \
36669422728. : 0 o E
I:\ lln:l;.."l. /
36669422729, o a2

36669422730. { 0 tA



Question Number : 41 Question Id : 3666947223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3+/x
Jn_c+1

water i 5 minutes and 50 kg water in 2 minutes respectively from a well of 100 m deep.
The value of x will be

The ratio of powers of two motors 1s . that are capable of raising 300 kg

Options :

36669422731. 2
36669422732. 4
36669422733. 16

36669422734, 2-4

Question Number : 41 Question Id : 3666947223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

I Ties Bt et o7 ST }ﬁ 2, 5t i oy 5 e wd 2 e

x+
B 300 kg TG 50 ke U1 B 100 HIX TER HU Y ISH T Y& T | x B AH
g

Options :

36669422731. 2

36669422732. 4

36669422733. 16



36669422734, 2-4

Question Number : 42 Question Id : 3666947224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Maxwell's equation 1s valid for time varying conditions but
not valid for static conditions :

Options :
.= =3

26669422735, DB dl =11

36669422736, bE ot

—3

- —F
36669422737, PP dA=0Q

.J_Em=n
36669422738.

Question Number : 42 Question Id : 3666947224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

{5 o O 1 91 Hagdd geiieu, §Hg-uRadl uRiiadl & fau @ dy g foog
e uRIR & w9y 8l
Options :

36669422735, DB dl = Uy I



e HDB
PE-d =——
36669422736. ot

.
36669422737, PP AA=0

J:E'¢ﬁ==ﬂ
36669422738.

Question Number : 43 Question Id : 3666947225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The source of time varying magnetic field may be
(A) apermanent magnet

(B) an electric field changing linearly with time
(C) direct current

(D) a decelerating charge particle

(E) an antenna fed with a digital signal

Choose the correct answer from the options given below:
Options :

36669422739, (A) only

36669422740, (D) only

36669422741, (C) and (E) only

36669422742, (B) and (D) only



Question Number : 43 Question Id : 3666947225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ty ukad! @I & $1 HId ol 9&Hdl 6:

(A) TH M JHER
(B) THY & WY WG ¥U I gRafid gidT Us fded &
(€) feFum

(D) HET BT g3f TP HTARId DUl
(E) U Ui, fSfoied fud Fag & 91y
19 fdu T faeedl § 9 9gl SR I+

Options :

36669422739, PAT (A)

36669422740, P4 (D)

36669422741, @A (C)Td (E)

36669422742, P04 (B) Td (D)

Question Number : 44 Question Id : 3666947226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A vessel of depth 'd’ 18 half filled with o1l of refractive index n; and the other half

15 filled with water of refractive index n,. The apparent depth of this vessel when
viewed from above will be-

Options :
d nn,

36669422743, ~ 1)

36669422744,



dmn,
(1 +m, |

2d (ny +m, |

36669422745. Ly

d ( ny +n, |

36669422746, <M

Question Number : 44 Question Id : 3666947226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS 'd' TTERTg aTdl cH., n, HYTcID ard dd o ST HRT 8, Ud a1 Pl ST
n, HIGCHIP alcl U 4 HRT 3| O1d 59 §ci- 1 SHUR I ST OlTd 6. dl 9!
31T TTeRTS B

Options :

d mn,
36669422743, <\ T 1L
d mn,

36669422744, |1 T2

2d (ny +m, |

36669422745. m 1,

d ( ny +n, |

36669422746, <M



Question Number : 45 Question Id : 3666947227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The difference between threshold wavelengths for two metal surfaces A and B
having work function ¢ , = Q el and O g =45eV innm is:

{Given, he = 1242 eV nm}
Options :
36669422747, *%4

36669422748, 40

5
-1
(=

36669422749, *

—
d

36669422750, 138

Question Number : 45 Question Id : 3666947227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0, =9eV Ty =45V DB dId 4l Ulfcd® al A Td B & Sgail
Wﬁiﬁfﬁ AW om § %’1

(e She=1242¢V nm)

Options :

36669422747.

36669422748, 40

36669422749, =76



36669422750, 138

Question Number : 46 Question Id : 3666947228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

238 234 4
37 ‘4_3'9[* B+ 2D+Q

In the given nuclear reaction. the approximate amount of energy released will be:

[Given, mass of 238 4= 23805079 x 931.5 MeV/c?

mass of %343 ~234-04363 x 931-5 MeV/c2.

mass of ,'}D — 4-00260 x 931-5 MeV/c?]

Options :

36669422751, 3-82 MeV

36669422752, 4-25 MeV

A

36669422753, 5-9 MeV

36669422754, 2-12 MeV

Question Number : 46 Question Id : 3666947228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



238 234

0 4 =g B+§D+Q
&1 1S AT Sl o, gad g8 @al 1 T T BT

(f&ag. 2% 4 BT ZOHM = 238-05079 x 931.5 MeV/c?,

234 p D] T = 234-04363 x 9315 MeV/c?,

90

* D BT %IHA = 4-00260 x 931-5 MeV/c?)
Options :
36669422751, 3-82 MeV

36669422752, 4-25 MeV

36669422753, 5-9 MeV

-

36669422754, 2-12 MeV

Question Number : 47 Question Id : 3666947229 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the following circuit and given mputs A and B. choose the correct option for
output 'Y’

L B st et el 1

Options :

36669422755. !
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Question Number : 47 Question Id : 3666947229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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36669422755. !

36669422756.
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Question Number : 48 Question Id : 3666947230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - IT

List-I List - II
(Laver of atmosphere) (Approximate height over earth's surface)
(A) Fy-Layer @  10km
(B) D-Laver (I) 170-190km
(C) Troposphere (IITy 100 km
(D) E -laver IV) 65-75km

Choose the correct answer from the options given below:
Options :
36669422759, A—IL.B-IV.C-III.D -1

36669422760. A-III.B-IV.C-1.D-1II



36669422761, A—-IL.B-IV.C-1. D -1III

36669422762, A—-II.B-1.C-IV.D-1III

Question Number : 48 Question Id : 3666947230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

THl - 11 Gail - 11 e -

i -1 Tl - 11
(@TATER B TTH) (T F Tq P FUT TTHT SHATS)
(A) F,-Td (D 10km
(B) D-Wd (1) 170 - 190 km
(C) &IHAUSH QUG (1) 100 km
(D) E-Td (IV) 65-75km
e feu e fawedl # 9 Fel R I

Options :

36669422759 A—-IL.B-IV.C-III. D -1I

36669422760. A-—IL.B-IV.C-1.D-1II

36669422761, A—-IL.B-IV.C-1. D -1III

36669422762, A-II.B-1.C-IV.D-1III

Question Number : 49 Question Id : 3666947231 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Two charges each of magnitude 0.01 C and separated by a distance of 0-4 mm

of 10 dyne/C making 30° angle with £ . the magnitude of torque acting on dipole
18:

Options :

36669422763. 1-0 % 1075 Nm
36669422764, 2-0 = 10719 Nm
36669422765 4:0 x 10719 Nm

36669422766. 1-5 » 1077 Nm

Question Number : 49 Question Id : 3666947231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0.01 CWW&T@W@I%@-@@QJ 111111&@@%.@%@
fGe/a 913 § 1 1S 29 fg3a 1 10 SIE/Hand ard bl teanH fdyd &
T 2 Y 30° B HIVT 1] U @1 OIdl 5. Al [§3d UR PHIURd gargul & GRATI

GARSCNE
Options:

36669422763. 1:0 % 1075 Nm

36669422764, 2:0 x 10719 Nm

36669422765. 4-0 = 10719 Nm

36669422766. 1-5 * 1072 Nm



Question Number : 50 Question Id : 3666947232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Different combination of 3 resistors of equal resistance R are shown in the figures.
The increasing order for power dissipation is:

ABAN
R R
(A) — e
4 R
A
R R
15 T -
I R
AN
R
AN
(©) i .
I
R
ABAN
® I S
Options :

36669422767, FA= PB<Pc=Pp

36669422768, ¢ = Pr<Pa<Pp

36669422769, Fc = Pp=Pa =Pp

36669422770. FB= Pc<Pp <Py

Question Number : 50 Question Id : 3666947232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



fe= & o UfeRiyear R 9Tt 3 Uil & SIe-IeT SaioH Ueiid § | Tifea
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AR
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A A
(B) -+ = .
I R
A
R
A
(© i .
I
R
WA
™ I &R R
Options :

36669422767. FA=P=Pc=Pp

36669422768, ¢~ Ps<Pa<Pp

36669422769. Fc = Pp= Py =Pp

36669422770. TB= Pc<Pp <Py

Physics Section B
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Question Shuffling Allowed : Yes
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Question Number : 51 Question Id : 3666947233 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The radius of 2% orbit of He™ of Bohr's model is ry and that of fourth orbit of

3+ - : - F :
Be”" 1s represented as rp. Now the ratio = 1s x : 1. The value of x 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 51 Question Id : 3666947233 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AR ATSd & He™ @1 fgdid BT B (3541 r, 3. Ud 59 B>~ @1 aqY Hefl 3
B r, &1 9f oo 2§ x: 11 A PIAA 2

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666947234 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A fish rising vertically upward with a uniform velocity of 8 ms™!. observes that a

bird is diving vertically downward towards the fish with the velocity of 12 ms™".

If the refractive index of water 1is i then the actual veloeity of the diving bird

to pick the fish, will be ms .,

=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666947234 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8 ms~! P UHIAM 7 Y FAR HUR 330 g5 U Hod! addl ¢ & Ub
fafsar, oo o @iw Fwafer F= &1 iR 12 me~! & 3T 1€ §1 af gt
P SUaAHID £ B, T HST Bl gPs (36) B o FRfsar 1 arsdfa® am

ms! E'-TTITI

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666947235 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the given figure, an inductor and a resistor are connected in series with a battery

EY : : :
of emf E volt. —_ /s represents the maximum rate at which the energy 1s stored
2h

in the magnetic field (inductor). The numerical value of 5 will be
a

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666947235 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 3666947236 Question Type : SA Calculator

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A thin infinite sheet charge and an infinite line charge of respective charge

densities + ¢ and + % are placed parallel at 5 m distance from each other. Points 'P*
3 4 ; . ;

and 'Q' are at =m and —m perpendicular distances from line charge towards
n n

sheet charge, respectively. 'Ep' and By’ are the magnitudes of resultant electric

tield intensities at point P' and 'Q". respectively. If i for 2| o| =| 1], then
i

‘i)

the value of a 18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 54 Question Id : 3666947236 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U@ 30 AT I U4 UD A <@g A% & 1A% I P + 6 Ud +
1 8. Ol foh Th-goR ¥ 5 m B g1 TR Th-GER & FHMIR 3@ § | 161 3MaY A

TATTd del Bt TR HU: %m T4 Sm @l arad gikal R g P e Q §
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Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 3666947237 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The elastic potential energy stored in a steel wire of length 20 m stretched through

=

2 ¢m is 80 J. The cross sectional area of the wire 1s mm-.
(Given. y=2.0 x 10" Nm™)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 55 Question Id : 3666947237 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U 20 m T IR Bl 2 om dF Wi o TR 590 Sid T FRIfaw Seil g0 7
g1 AR B U PIc B §ABd mm? g

feang. y=2.0 < 10! Nm2)
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10

Question Number : 56 Question Id : 3666947238 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A solid sphere 1s rolling on a horizontal plane without slipping. If the ratio of
angular momentum about axis of rotation of the sphere to the total energy of
moving sphere 1s m: 22 then, the value of its angular speed will be

rad/s.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 3666947238 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



foft &forsT ad U=, U 31 el foe fhee @ T g1 afe e s ol &
3181 & URT: 39D DIV Ha¥l D1, GHd §U I DI P GHoll § SN 7: 22§,
dl g HIviy T7d &1 54 rad/s B

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
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10

Question Number : 57 Question Id : 3666947239 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

At a given point of time the value of displacement of a simple harmonic oscillator
is given as v = A cos (30°),
If amplitude 1s 40 cm and kinetic energy at that time 1s 200 J. the value of force

constant is 1.0 x 10* Nm™!L. The value of x is
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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10
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10
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Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

When a resistance of 5 € 13 shunted with a moving coil galvanometer, it shows a
full scale deflection for a current of 250 mA, however when 1050 € resistance 15 connected

with 1t 1 seres, 1t gives full scale deflection for 25 volt. The resistance of
galvanometer 1s Q.
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Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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10

Question Number : 59 Question Id : 3666947241 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
From the given transfer characteristic of a transistor in CE configuration. the value
of power gain of this configuration is 10", for Ry =10k Q. and R =1k Q. The

value of x 15

F

Ic=(mA) ]

i Pl
30 /
20 Z

10 *

Y

(0. 0) A
g 100 200 300 400 500 Is=(uA)
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10
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10

Question Number : 60 Question Id : 3666947242 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A potential V 1s applied across a uniform wire of resistance R. The power
dissipation is Py. The wire is then cut into two equal halves and a potential of V, is
applied across the length of each half. The total power dissipation across two

wires is P5. The ratio P, : Py is fy - 1. The value of x is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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10
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Sub-Section Id : 366694420
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Question Number : 61 Question Id : 3666947243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The energy of an electron in the first Bohr orbit of hydrogen atom i3
-2.18x10718 J. Its energy in the third Bohr orbit is

Options :

36669422781, One third of this value

l th of this value
36669422782.

36669422783. Three times of this value

1 .
~ of this value

i

36669422784.

Question Number : 61 Question Id : 3666947243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BI5 S WRHTY] B UYH IR B&fl H gaacH Bl Gl -2.18x107 87 B g aiR
el T 3HD! Holl -

Options :

36669422781, 2% HIT PTUP SHE
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36669422782.

36669422783, 39 A BT Tli= AT

gﬂmﬁﬁ%
36669422784, -

Question Number : 62 Question Id : 3666947244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In which of the following processes, the bond order increases and paramagnetic
character changes to diamagnetic one 7

Options :

36669422785. NO— NO™

36669422786, ©2 — 02~
o o

36669422787, ©2 — 07”

36669422788, Na—Ny~

Question Number : 62 Question Id : 3666947244 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fFrafeiEd o 9 g whH o 31a=! B0 9l § 3R SIS Y 10 &1 Ufd
TP 0 H URad- gl ol § 2




Options :

36669422785. NO— NO™

36669422786, ©2 — 02~

o o
36669422787, ©2 — 07”

36669422788, No—N>

Question Number : 63 Question Id : 3666947245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What happens when a lyophilic sol 13 added to a lyophobic sol?
Options :

36669422789, Lyophilic sol 1s dispersed i lyophobie sol.

36669422790, Lyophobic sol is coagulated

36669422791, Film of lyophilic sol 1s formed over lyophobic sol.

36669422792, Film of Iyophobic sol 1s formed over lyophilic sol.

Question Number : 63 Question Id : 3666947245 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

36669422789, SATGINT Tld H GaxM Ald f[aafsld 8 Sar g1

36669422790, SATAXHI Hidl BT Whg gl oildl o

36669422791, SATGRTT HId TR GarF Hiel &1 Ueb fthedt & Wil 5 |

36669422792, SARFN Hiel TR SalaRFN Hiel 1 Uep fthed & il § |

Question Number : 64 Question Id : 3666947246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are not correct ?

A. The electron gain enthalpy of F 1s more negative than that of Cl.

B. Ionization enthalpy decreases in a group of periodic table.

C. The electronegativity of an atom depends upon the atoms bonded to it.

D. Al,0; and NO are examples of amphoteric oxides.

Choose the most appropriate answer from the options given below
Options :

36669422793, A- B and D Only

36669422794, A.B.Cand D

36669422795, B and D Only

36669422796, - C and D Only



Question Number : 64 Question Id : 3666947246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

36669422793, PO A, B AU D

36669422794, A. B. C AUID

36669422795, ad B dUT D

36669422796, PO A, C AUTD

Question Number : 65 Question Id : 3666947247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following 1s most likely a mismatch ?
Options:

36669422797. Titanium - van Arkel Method

36669422798, Nickel - Mond process



36669422799, Zinc - Liquation

36669422800. Copper - Electrolysis

Question Number : 65 Question Id : 3666947247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Frafafad 3§ 3 &F 9 ta sftiedy guifdd 984 o

Options :

36669422797, ClecidH - HRGd  [dfY

36669422798, AP d - OIS UHH

36669422799, Wi - FIAIAH

36669422800, PTIY - 355 3d SqdC

Question Number : 66 Question Id : 3666947248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I: Permutit process is more efficient compared to the synthetic resin
method for the softening of water.

Statement II: Synthetic resin method results in the formation of soluble sodium
salts.

In the light of the above statements. choose the most appropriate answer from the
options given below:



Options :

36669422801, Both the Statements I and II are correct
36669422802, Both the Statements I and II are incorrect

36669422803. Statement I 15 correct but Statement II 1s mcorrect

36669422804. Statement I 1s incorrect but Statement II 1s correct

Question Number : 66 Question Id : 3666947248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ElE AL RIC A G

am%-@nﬁﬁaﬁﬁﬁﬁﬁ&ﬁwmﬁfmaﬁﬁqgwﬁa{%
R

HU 11 - SRad o faftl & gemsiia 9ifsas 9iee d 8|
SR Sl & oy A iU T faeedl § 9§ Haiive 3fd 3R gy

Options :
36669422801, PUT I AU HY 11 21 Tl B

36669422802, PUT I TUT HY 11 21 Ja! ol o

36669422803, PUT 1 T8! 8 U] BYF 11 ¥el -Tol &

36669422804, DU 1 ! 6T § g PUT 1 Tl ¢



Question Number : 67 Question Id : 3666947249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Be(OH), reacts with Sr(OH), to yield an ionic salt. Choose the incorrect option

related to this reaction from the following :
Options :

36669422805, Both Sr and Be elements are present in the 1onic salt.
36669422806, The reaction 1s an example of acid - base neutralization reaction.
36669422807, The element Be is present in the cationic part of the 1onie salt.

36669422808, Be 1s tetrahedrally coordinated in the ionic salt.

Question Number : 67 Question Id : 3666947249 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

S1(OH), ¥ Be(OH), HUfonal v Ush S1ai-d Flee odl ¢ | Fafafea dd g9

sififeran 3 Ry oft e we) =81 3, Sua 9T

Options :

36669422805, Gl dcd St YT Be HAMHT Tlee # IURUT 81

36669422806, S HPUT SHI-&R JERHIDI SH{Hfchal BT U ARV B |

36669422807 0 Be UM Alee & y-af® U H Sufud giar gl

36669422808, ATAM® Tlee H Be P A ¥ IUHGHAISId gidrel



Question Number : 68 Question Id : 3666947250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIF; at room temperature is a:
Options :

36669422809, Colourless liquid with trigonal bipyramidal geometry
36669422810, Colourless liquid with square pyramidal geometry

36669422811, Colourless gas with square pyramidal geometry

Colourless gas with trigonal bipyramidal geometry.
36669422812. = = &

Question Number : 68 Question Id : 3666947250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIF; TR & AMIHH IR g U -

Options :

36669422809, TT6IH &d forge®! Hp il fgiuRIESt s 51

36669422810, VB &a forga! g7l [URITS! wTfifd g |

36669422811, VeI 19 [orye] ot fURIHS] sl 5

36669422812.



TR 119 forga! B iuiy fgfuriiiEt sarfifa 3

Question Number : 69 Question Id : 3666947251 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The incorrect statement from the following for borazine 1s:

Options :

It 15 a cyelic compound.
36669422813.

36669422814. It contains banana bonds.

36669422815, It can react with water.

It has electronic delocalization.
36669422816.

Question Number : 69 Question Id : 3666947251 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Siei & oy FfafEd § 9 &F 91 oy 981 et g
Options :

36669422813, U8 ADIT ANTH 3 |

36669422814, S AT TR BIA & |



36669422815, U8 od 4 S{H{Har B TPpdl ¢ |

36660422816, 39 SadCl-® 3ffdedTd BT €|

Question Number : 70 Question Id : 3666947252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The pair of lanthanides in which both elements have high third - 1onization energy
18!

Options :

36669422817, Eu. Gd
36669422818, Eu. Yb
36669422819, Dy. Gd

36669422820. Lu. Yb

Question Number : 70 Question Id : 3666947252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
AUAIS| Bl 98 i [69H SHT dcdl 1 iy 3aH &oll 3= §

Options :

36669422817, Eu. Gd

36669422818, Eu. Yb



36669422819, Dy. Gd

36669422820, Lu. Yb

Question Number : 71 Question Id : 3666947253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mismatched combinations are

A. Chlorophyll - Co

B. Water hardness - EDTA

C. Photography - [Ag(CN),]~

D. Wilkinson catalyst - [(PhyP)3RhCI]
E. Chelating ligand - D-Penicillamine

Choose the correct answer from the options given below :
Options :
36669422821, A. C. and E Only

36669422822, 4 and C Ouly

36669422823, A and E Only

36669422824, D and E Only

Question Number : 71 Question Id : 3666947253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
SO T
A. TR - Co
B. Old &1 HBRdl - EDTA
C. BITHTHT - [Ag(CN),] -
D. fafeh—=09 IERD -[(PhsP)3RACI]
E. BIdleT fois - D-URReudF

- U fawedt | ¥ Hel SR g

Options :

36669422821, PO A, C, 3R E

36669422822, HaT A 3R C

36669422823, AW A R E

36669422824, BAAD IR E

Question Number : 72 Question Id : 3666947254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The radical which mainly causes ozone depletion in the presence of UV radiations
18

Options:

36669422825, NO*

36669422826, OH

36669422827, CI’

36669422828.



CH;'

Question Number : 72 Question Id : 3666947254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A ol i U 9 WIaTH fafds ol &1 3ufRufa 3§ 3o &9 15,98 5 -

Options :

36669422825, NO*

36669422826. OH

36669422827. CI’

36669422828, CH3'

Question Number : 73 Question Id : 3666947255 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the following compounds. the one which shows highest dipole moment 1s

Options :
36669422829. @ @

0

36669422830. A

36669422831.



36669422832, M

Question Number : 73 Question Id : 3666947255 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafufad Aifte! 8 3 o goan feg omgof axfar s, as 8-

Options:
36669422829. @ @

0

36669422830. A

36669422831, I/ — —

36669422832. [D{

Question Number : 74 Question Id : 3666947256 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the following reaction X'1s

Anhy.AlCI;
HC1

A

CH; (CHy)4 CH;
major product

Options :

36669422833, CH3(CH;),CH,CI
36669422834, C1-CH,-(CH;)4-CH,-Cl

CH,
/
H,C CH,

|
HJC CH,

~ CH:/

36669422835.

CH,CH —(CH,),CH,
|
36669422836. CH,

Question Number : 74 Question Id : 3666947256 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafafad sffear &

HCl
A

IXI

HE 3dia

Options :
36669422833, CH3(CH;),CH,CI

36669422834, C1-CH,-(CH;)4-CH,-Cl

36669422835.



.
H,C CH,
|
H |c CH,
~ CH, A

CH,CH —(CH,),CH,4
|
36669422836. CHj;

Question Number : 75 Question Id : 3666947257 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2-Methyl propyl bromide reacts with C;H;O ™ and gives 'A' whereas on reaction
with C;H;OH 1t gives 'B'. The mechanism followed in these reactions and the
products 'A' and 'B' respectively are :

Options:

36669422837, Sn2. A = 1so-butyl ethyl ether: Sy 1. B = tert-butyl ethyl ether

36669422838, Snl. A = tert-butyl ethyl ether: Sy2. B = iso-butyl ethyl ether

36669422839, Sn1. A = tert-butyl ethyl ether: Sy 1. B = 2-butyl ethyl ether

36669422840 Sn2. A= 2-butyl ethyl ether: Sy2. B = 1so-butyl ethyl ether

Question Number : 75 Question Id : 3666947257 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



2- T YIYd sH15S C,H,0™ I SHiNTehar SR A <l § Wad| I8 C,H.OH
4 3fffehar b B ST g

5 siftifspanafl gRT SrTafka fopan fafy quT g o 3R B FR: §

Options :

366609422837, Sx2. A = SMEH-SIfCT TRAT TUR: Sy1. B = tert- ST YU TR
36660422838, Sx1. A = tert T[T AT FUR: Sy2. B = 3MSHI-s4feq TAA R
36669422839. 51;\-1. A= TEIT-E'-‘:J:I%H Qiiﬁl %‘Zﬁf 5-_:-.;].. B=2 E‘IH%T*I EIQEI izﬁf

36660422840, Sn2. A = 2-87(CT URIT ZUR: S2. B = SATFH-Sfed T 2R

Question Number : 76 Question Id : 3666947258 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OH
D/b & . major product
’ fa

In the above reaction, left hand side and right hand side rings are named as 'A'
and 'B' respectively. They undergo ring expansion. The correct statement for this
process 1s:

Options :
36669422841, Finally both rings will become six membered each.

36669422842, Finally both rings will become five membered each.

36669422843, Ring expansion can go upto seven membered rings



36669422844, Only A will become 6 membered.

Question Number : 76 Question Id : 3666947258 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

CH

AN e
{j A

JURITd HHTehar H SRl 3R quT S/l 3R & aad] &1 HY: ‘A 7Yl B A &1
T 81 59 AT § 57 gadl o faR Sia1 81 59 UhH & o7 TEl U § -

Options:

36669422841. AdHeH gadl 4 9 Ud® - ﬂaﬁﬂﬁml

36669422842. Wﬁﬁmﬁﬁwwmﬁml

36669422843, TTd YT g@d §-1-1 d% 9oy [d%dR &l & dl o

36669422844, PAT A F: G&Ig © WA |

Question Number : 77 Question Id : 3666947259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In the reaction given below

Me
|

_N g W1,
):o ) NeOH. &
(1) H” Major Product

‘Al 1s

Options :

MeHN~ 1 . COOH
36669422845, g ot

Me
' ol

[T
36669422846. OH

M
|

M
36669422847. 7

36669422848, MeHN ~_~_~ (110

Question Number : 77 Question Id : 3666947259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A= S Tt stftehara |
Me
;N\}:D () NaOH.A
(1) H™ i 3l
IAF%
Options :

MeHN-~ 4 . COOH
36669422845, S~



M
' ol

[ X
OH

36669422846.

M
|

M
36669422847. 7

36669422848, MeHN ~_~_~ C110

Question Number : 78 Question Id : 3666947260 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the reaction given below

i) HCl

e IRI

11} KOH Major Product
H.N OH
B'1s :
Options :

e

NH,

e

36669422850, b

36669422849.

36669422851.



MNH

=

T,

36669422852, N

Question Number : 78 Question Id : 3666947260 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i1= <t sifdyferan o
1} HC -
iy KOH NS
H,N OH
|Br %
Options :

36669422849, N

e

36669422850. ™H:

36669422851. NH



e

36669422852, i,

Question Number : 79 Question Id : 3666947261 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Match the following

Column-A Column-B
a) Nylon 6 I. Natural Rubber
b) Vulcanized Rubber II. Cross Linked
c) cis-1, 4-polvisoprens I1I. Caprolactam
d) Polychloroprene IV. Neoprene

Choose the correct answer from options given below :
Options :

36669422853, a—IL. b—IIl. c—IV, d—I

36669422854, a—III. b—Il. e—I. d—IV

36669422855, a—III. b—IV, c—I. d—II

36669422856, a—IV. b—IIL. c¢—II, d—I

Question Number : 79 Question Id : 3666947261 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



frafafad Sreml A Tul B &f fHaH BT -

HIAH -A HIaH -B
a) O 6 I U i T&d
Ib) dedh-Idhd Ta% 11. fadd af=d
¢) cis-1. 4 QeI SMZ M I BUlcdeH
d) TTeTaaRIg IV =3
A feu faeeui § ¥ ¥l STR I -

Options :

36669422853, a—IL. b—IIl. ¢—IV, d—I

36669422854, a—IIL. b—Il. c—I. d—IV

36669422855, a—IIL b—IV. c—I. d—II

36669422856, a—IV. b—IIL. c—II, d—I

Question Number : 80 Question Id : 3666947262 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
1) HCN

D -(+)- Glyceraldehyde i) H,0/H-

iii) HNO;
The products formed in the above reaction are

Options:

36669422857, Iwo optically actrve products

36669422858, One optically active and one meso product

Two optically inactive products
36669422859.



36669422860, One optically mnactive and one meso product.

Question Number : 80 Question Id : 3666947262 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o = i) HCN
D (+) HalsdxlcoginsS i) 0,0/ I

iii) HNO,

IR ANl T 399 391G ;

Options :

36660422857, &1 YAV YUIP IAIE B

36669422858, U YaUT YUID IIG 8 GYUT TP HHl (meso) AR |

36669422859, | U1 Ul e B

U Ul 3‘|T§I;Ufa'7 %mﬁﬁ@ [111&50)6’%% |

36669422860.

Chemistry Section B

Section Id : 366694421
Section Number : 6

Section type : Online
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Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20



Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 366694421
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 81 Question Id : 3666947263 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
KMnO, is titrated with ferrous ammonimm sulphate hexahydrate in presence of

dilute H,SO,4. Number of water molecules produced for 2 molecules of KMnO,
18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 81 Question Id : 3666947263 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

9 H,50, @1 IURYIT § KMnO,, P B3 SMHITH Jetbc gaRIEge 9 oid
3HIYH DR & a8 KMnO,, & 2 3] & e S09 o/l & U] Pl

G| €

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666947264 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain quantity of real gas occupies a volume of 0.15 dm? at 100 atm and 500 K
when its compressibility factor 1s 1.07. Its volume at 300 atm and 300 K (When its

compressibility factor is 1.4) 1s < 107 dm?® (Nearest integer)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666947264 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

aﬁﬁaﬁﬂﬁwﬁi%w_ma atm 4T 500 K U 0.15 dm? 3 U4l &
oiq SHP] Julsad] ulie 1.07 B 300 atm TYT 300 K TR SHH1 ATd (94
ST GUISTar Ui 1.4 8 ) BT « 10 dm? (F@eaq
quTich H)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 83 Question Id : 3666947265 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A,+B,—2AB. AHY = —200 kJ mol ™!
AB. A, and B, are diatomic molecules. If the bond enthalpies of A,. B, and AB

arc in the ratio 1:0.5:1. then the bond enthalpy of A, 1s kJ mol!

(Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666947265 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A,+B,—2AB. AHY = —200k] mol !

AB. A, TUI B, lgURHITE® U 13G A,. B, TUT AB B! &= TAT
1:0.5:1 UG H & @l A, BT 1= T kJ mol™* BHII
(Heean quie o)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 84 Question Id : 3666947266 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Solution of 12 g of non-electrolyte (A) prepared by dissolving it in 1000 mL of water exerts
the same osmotic pressure as that of 0.05 M glucose solution at the same
temperature. The empirical formula of A 1s CH,0. The molecular mass of A 1s

g. (Nearest integer)
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 3666947266 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

12 ¢ 9GYd-3Tbed DI 1000 mL Sd H 9d B &1 711 [daa 31 81
URTERUI G4 309 DAl § fola-1 31 dlY UR b 9 7 0.05 M [aera-1 A &1
AT 93 CH,0 81 A BT JAIUIdd Goud o B

(Fepean quiie H)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666947267 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
25.0 mL of 0.050 M Ba(NOj3); is mixed with 25.0 mL. of 0.020 M NaF. Ky of
BaF, 1s 0.5x 1070 at 298 K. The ratio of [Ba”"] [F~]° and Kgp 18

(Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666947267 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
0.050 M Ba(NO5)2 & 25.0 mL 1 0.020 M. NaF & 25.0 mL & 1Y 0fYd fopar
TS | BaF, 1298 K TR Ksp 0.5x10C §, [Ba®] [F ~]* TUT Ksp BT 391
gl

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666947268 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A metal surface of 100 cm? area has to be coated with nickel layer of thickness
0.001 mm. A current of 2A was passed through a solution of Ni(NO3), for 'x'

seconds to coat the desired layer. The value of x 1s . (Nearest integer)
(Py;; (density of Nickel) is 10 g mL-!, Molar mass of Nickel is 60 g mol™!
F=96500 C mol-!)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666947268 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

100 em? Wﬁ@%ﬂﬂaﬁwaﬁﬂﬂm nmlmaﬁﬁhwjém
81 59 URd & f31U Ni (NOy), & [aaa- 24 $i [dgd 4RI '« 55 P Halsd
FTR xBTAA ¢ (Mocad guife #)

(px; (FP T BT 99@) § 10 g mL T BT HIR S4HH 60 g mol )
(F=96500 C mol-!)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 3666947269 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



tg7 5 18 the time required for the reaction to undergo 87.5% completion and t5; 13
the time required for the reaction to undergo 50% completion. The relation between
tg7 5 and tsq for a first order reaction 18 tg7 5 =x x t5g

The value of x 18 .[Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 3666947269 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TS AWfebaT 87.5% YUl 81 & 10 3a%dd TG © tg- - qU1 50% U BH &
[T SRS YH <, B | tgy s AU tso B HA HGY tg75 =x * tsg BL Al X BIAA
g (Heedn quie )

Response Type : Numeric

Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666947270 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

An organic compound gives 0.220 g of CO, and 0.126 g of H,O on complete

combustion. If the % of carbon 1s 24 then the % of hydrogen is

<107, ( Nearest integer )

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666947270 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U SIEH TP GUlas TR 0.220g CO, o 0.126g H,0 ST 81 Afe 3TH
B D1 %, 24 Bl df H P 9ia=d gt <107, (Fiapedq
quTies o)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 3666947271 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For the given reaction

CH3 CH3y
CH= C=CH> C-GHi——

HiC OH H
-
The total number of possible products formed by tertiary carbocation of A 1s

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 3666947271 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= & Tt siffcear

CH3 CHy
CH;~ C —~CH- C —CH; ———
H,C OH H
i

% 0 A & eliae SaEfATEE 9 Y $a Sdre) 3 I €

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 3666947272 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



20 mL of calecium hydroxide was consumed when 1t was reacted with 10 mL of
unknown solution of H,50,. Also 20 mL standard solution of 0.5 M HCI

containing 2 drops of phenolphthalein was titrated with calcium hydroxide, the
mixture showed pink colour when burette displayed the value of 35.5 mL whereas
the burette showed 25.5 mL initially. The concentration of H,SO, 15

M.(Nearest integer)
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 3666947272 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

H,S0, & U I faaa § fHfcha] d- IR ik g Sadss @ 20 mL
UGN T 31d 81 0.5 M HCl & HH a0 H 2 48 BIHaufeH Siad
ST TRSIARS U AT H- TR [HY01 Tare] 31 <2idl § od $43e
AT 35.5 mL WaiRid Rl 6 | URY B &XE 25.5 mL HET [G@T1 8T 4T 1 H,50,,

Y gigar MEl (Fdeqs qurfe o)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



